TEM

—
<

PARTS LIST
DESCRIPTION

TEMPLATE

BACKBONE

BACKER BOARDS

CLAMP BARS

STOP ASSEMBLIES

STOP KNOBS, 1/4-28

TEMPLATE BOLTS 1/4-20 X 1

DND|OD|W[IN|—]—

WASHERS, 1/4

THREADED ROD. 3/8-16 X 10

NUTS. 3/8-16

WASHERS. 3/8

SCREWS, 1B8-24 X 1

SCREWS. 8-32 X 1

WASHERS, #8

DINDNOOOIDNNCIHWNINNIN——O

THREADED KNOBS. 3/8-16

IRIm

—]
®

SECTION -A-

0 O

SECTION -B-

LA

i -

|TDT

E:]<
CJ

[RRTRTRIRIRTRTRIATA ==

(

BenchMark

DOVETAIL JIG
Philip Bumbalough

Apr. 2003 PLATE 1
Q" http://benchmark.20m.com )




TEMPLATE
- — 5
. . Cl 374 RECOMENDED
- - o 1/2 MIN
\|/
5 MIN

6/16 ELONGATED THROUGH

HOLE AND 5/8 COUNTER- 9

BORE 1/4 DEEP q—
3 PLACES

o
N4

o
A\

l
)

17
15

B 1/2 &

2 374

L___ START OF STOTS PATTERN

BenchMarlk

DOVETAIL JIG
Philip Bumbalough

Apr. 2003 PLATE 2
Qv http://benchmark.20m.com ~ )




BACKBONE

1/4-20 THREADED HOLE

1 1/4 DEEP
_ 5 PLACES . — o) 1 1/16
NG o hO —o— G
HE HH HE d 0

% % WL |

Lo Q [QV} 2

®
- o 4

3/8 DIA HOLE
2 PLACES
O o ;ﬂ::cé’gREADEJ HOLE o o O —_ q:_

.|
-4

-
4

17

15 1/2 &
14 1/2 &
8 1/2 &

2 1/2 4

172 —eo— [
| N

1

BenchMarlk

DOVETAIL JIG
Philip Bumbalough

Apr. 2003 PLATE 3
Qv http://benchmark.20m.com ~ )




BACKER

5/8

NT
VAN

V(O
AN

NT
VAN

o 4 TOL +B / - 1/16

1 DIA HOLE
> PLACES #10 THROUGH HOLE

COUNTER SINK BOTH SIDES

O @3 PLACES

17

6 &
14 1/2 &

HOLES IN BACKER BOARD MUST
MATCH THOSE IN BACK BONE

8 1/2 &

2 1/2 4

_EB_

BenchMarlk

DOVETAIL JIG
Philip Bumbalough

Apr. 2003 PLATE 4
Qv http://benchmark.20m.com ~ )




CLAMP BARS

1 MIN

1/2 DIA HOLE

g

2 PLACES

o
A4

1 1/4
q_ OPT IONAL
_E;_ RELIEF CUT ON
INSIDE FACE

B

BenchMarlk

DOVETAIL JIG

Philip Bumbalough

Apr.

2003 PLATE 5
Qv http://benchmark.20m.com ~ )




STOPS

MAIN STOP

MATERIAL 1/2 TO 3/4 THICKNESS

o 4 5/16

s 2 N

6/16 SLOT
1 OAL

— | —o— 4

5/32 SLOT
2 PLACES

P R NN D7~

nm
ik

[QVANQV} (S
\(jJ\

— —

.\
)
Q0

o
A\~

—

OPTIONAL STOPS AT EITHER END
OF JIG. MAKE TWO ASSEMBLIES

OPPOSING 1/2 OFFSET

MATERIAL 1/2 TO 3/4 THICKNESS

8-32 THREADED HOLES
2 PLACES

o 1
° o | — @ 172
¢ 4]

ya

|
!

2 1/2

WHEN ASSEMBLED TO MAIN STOP.
THE OFFSET WILL PROJECT 1/2
INCH FROM THE REFERENCE FACE
OF THE MAIN STOP AND BE
SQUARE TO IT.

BenchMarlk

DOVETAIL JIG
Philip Bumbalough

Apr. 2003 PLATE 6
Qv http://benchmark.20m.com ~ )




